COPY

Invoice submitted to:
Davis North
Attorney at Law
Harrison, North, Cooke & Landreth
221 Commerce Place
Greensboro NC 27401

March 7, 1996 In Reference To:95-165 Kimble

Professional services

	Hrs/Rate	Amount
12/20/95 Interviews of Ron Kimble, Edna Kimble and James Ogburn-alibi	3.17 50.00/hr	158.50
witnesses. 12/21/95 Attempt to interview Mike Chambers at Precision Fabrics; subject not available until next Monday.	0.83 50.00/hr	41.50
12/22/95 Conference with Ted Kimble.	0.75 50.00/hr	37.50
12/28/95 Attempt to interview Mike Chambers	0.83 50.00/hr	41.50
1/3/96 Search for Woodberry in Burlington	. 2.17 50.00/hr	108.50
1/5/96 Attempt to locate subjects; visit Woodberry residence on Lowdermilk Street; interview Rodney Woodberry's mother; visit possible location of Steve Swaney.	2.00 50.00/hr	100.00

		Hrs/Rate	Amount
1/9/96	Obtain license tag from vehicle at 304 Lowdermilk Street. Research Rodney Woddberry, no criminal record located.	0.50 50.00/hr	25.00
	Conference with Detective Sgt. Deberry and Detective Church.	2.25 50.00/hr	112.50
1/11/96	Interview with Mike Chambers.	1.00 50.00/hr	50.00
1/17/96	Attempt to locate Rodney Woodberry; Woodberry located at Bojangle's in Burlington 910-227-8750, 2403 Maple Avenue.	0.50 50.00/hr	25.00
1/19/96	Interview Rodney Woodberry in Burlington; criminal search on Woodberry -no record found in Alamance County.	2.25 50.00/hr	112.50
1/23/96	Conference with Ted Kimble at Lyle's.	0.70 50.00/hr	35.00
1/24/96	Attempt to locate Rodney Woodberry re: signing affidavit.	2.60 50.00/hr	130.00
1/25/96	Report Preparation	4.00 50.00/hr	200.00
	Conference with Detective Deberry at my office.	0.75 50.00/hr	37.50
1/29/96	Attempt to have Woodberry sign affidavit; he is no longer employed at Bojangles-home address is not good.	2.75 50.00/hr	137.50
3/5/96	Rewrite and construct report.	2.20 50.00/hr	110.00

Davis North		Page 3
	Hours	Amount
For professional services rendered	29.25	\$1,462.50
Additional charges:		
12/20/95 6 miles driven @ .35/mile		2.10
12/21/95 8 miles driven @ .35/mile		2.80
12/22/95 4 miles driven @ .35/mile		1.40
12/28/95 8 miles driven @ .35/mile		2.80
1/3/96 37 miles driven @ .35/mile		12.95
1/5/96 17 miles driven @ .35/mile		5.95
Vehicle registration checks		50.00
1/9/96 3 miles driven @ .35/mile		1.05
1/17/96 Long distance telephone calls.		5.00
1/19/96 58 miles driven @ .35/mile		20.30
1/23/96 6 miles driven @ .35/mile		2.10
Total costs		\$106.45
Total amount of this bill		\$1,568.95
12/26/95 Retainer 1/24/96 Payment - thank you		(\$500.00) (\$500.00)
Total payments		(\$1,000.00)
Balance due		\$568.95

Page 4

Davis North

Invoice Due Upon Receipt-Thank You